Annexure—15

ABSTRACT STATEMENT OF ELECTION EXPENSES

Part-I

Name of Candidate:

: K.A.SENGOTTAIYAN

Number and name of Constituency: 106 GOBICHETTIPALAYAM ASSEMBLY CONSTITUENCY

Name of State / Union Territory: : TAMIL NADU

Nature of Election

: GENERAL ELECTION:

Date of declaration of result : 13.05.2011.

Name and Address of the Election Agent: P.SRIDHAR,

Thundukadu Thottam,

Alukkuli Post, Gobichettipalayam.

Part-ll

1. Were you a candidate set up by a Political Party? : Yes

II. If yes, name of the party : AIADMK

III. Is the Party a recognised Political Party? : Yes

IV. If recognized political party, whether National/ State Party: State Party

V. Has your party incurred/authorized expenses in your election?: Yes

VI. Any other association/ body of persons / individual incurred/

authorised expenses in your election? : No

VII. If yes, give its/his/their name(s) and complete address : (1) Not Applicable

(2) NIL

(3) NIL

PART III

ABSTRACT STATEMENT OF EXPENDITURE ON ELECTION BY THE CANDIDATE/HIS
ELECTION AGENT

		Expenditur	Total Expenses		
Sl. No.	Item of Expenditure	Candidate / his Election Agent	by Political Party which set him up	Any other Association/ Body of Persons / Individual	incurred/ Authorised (Total of Columns 2,3 & 4)
1.	2.	3.	4.	5.	6.
		Rs.	Rs.	Rs.	Rs.
1.	Public meetings, processions, etc.	49,170			49,170
2.	Campaign materials, like [,] handbills,posters, video and audio cassettes	2,45,411			2,45,411
3.	Campaign through electronic/print media (including cable network)	3,000			3,000
4.	Vehicles used and POL expenditure on such vehicles	3,38,130			3,38,130
5.	Erection of gates, arches, cusouts, banners, etc.	38,650			38,650
6.	Visits of 'leaders' to the constituency (other than the expenditure on the travel of 'Leaders' as defined in Explanation 2 under Section 77(1) for propagating programme of the	NIL	NIL	NiL	NIL
7.	Visit of other party functionaries	NIL	NIL	NiL	NIL
8.	Expenses on Campaign workers	NIL	NIL	NiL	NIL
9.	Other misc. Expenses	1,42,380			1,42,380

GRAND TOTAL Rs.8,16,741/-

HAR

Lump-sum grant received, if any, from -

1.	Political Party	NIL
2.	Any other association/body (with its name and address)	NIL
3.	Any individual (with name and address)	NIL

المجالة Signature of the Candidate

PART - IV

DETAILS OF EXPENDITURE ON VEHICLES USED

Details of expenditure on all vehicles used in connection with the election including the vehicles supplied to candidate by his Political Party or any other association/organization/body or by any other individual are required to be shown. The only exception is the expense incurred in connection with travel of 'leaders' of political party for propagating programme of political party covered by Explanations 1 and 2 under Section 77(1).

			Ra	te for hiri	ng	No.		Break-up of total expenditure of Column 6			
Regn. No. of Vehicle	Type of Vehicle	Vehicle Permit No. issued by RO	Rate for hiring of vehicle / mainte- nance	Fuel charges (if not covered under hiring)	Driver's charges/ (if not covered under hiring)	of days for which used	Total Amount incurred	Amount spent by the candida te/ Election Agent	Amou nt spent by the Politic al Party	Amount spent by any other association / body of persons/ individual	
1	2	3	4a	4b	4c	5	6	7	8	9	
TN 66 C 7977	Bolero	1/2011	1450			6	8,700	8,700			
TN 36 J 8275	Tata ACE	2/2011	1050			6	6,300	6,300			
TN36 J 4455	Scorpio	7/2011	1600			6	9,600	9,600			
TN 33 AW 0666	Scorpio	8/2011	1600			6	9,600	9,600			
TN 56 B 0484	Maxicab	9/2011	1450			3	4,350	4,350			
TN 36 J 4455	Scorpio	12/2011	1600			14	22,400	22,400			
TN 36 J 8275	Tata ACE	13/2011	1050			14	14,700	14,700			
TN 66 C 7977	Bolero	14/2011	1450			14	20,300	20,300			
TN 52 Z 7808	Pickup	32/2011	1050			14	14,700	14,700			
TN 36 L 7038	Auto	33/2011	1050			14	14,700	14,700	~-		

		Vehicle Permit No. issued by RO	Rate for hiring			No.		Break-up of total expenditure of Column 6		
Regn. No. of Vehicle	Type of Vehicle		Rate for hiring of vehicle / mainte- nance	Fuel charges (if not covered under hiring)	Driver's charges/ (if not covered under hiring)	of days for which used	Total Amount incurred	Amount spent by the candida te/ Election Agent	Amou nt spent by the Politic al Party	Amount spent by any other association body of persons/ individual
1	2	3	4a	4b	4c	5	6	7	8	9
TMJ 0117	Auto	34/2011	750			3	2,250	2,250	-	
TN 36 K 3281	Pickup	35/2011	1050			14	14,700	14,700		
TN 56 A 5599	Pajero	41/2011	1600			14	22,400	22,400		
TN 36 K 4882	Tata ACE	42/2011	1050			13	13,650	13,650	_ 	
TN 38 AE 1258	Tata ACE	51/2011	1050			2	2,100	2,100		
TN 36 M 1960	Tata ACE	71/2011	1050			10	10,500	10,500		
TN 36 P 1657	Tata ACE	73/2011	1050			10	10,500	10,500		
TN 36 L 9786	Maruthi Omni	74/2011	1300			9	11,700	11,700		
TN 33 AW 0666	Scorpio	103/201 1	1600			1	1,600	1,600		
TN 38 B 6090	Qualis	101/201 I	1600			1	1,600	1,600		
TN 36 J 4455	Scorpio	102/201 1	1600			1	1,600	1,600		
TN 56 A 5599	Pajeno	1/2011	1600			1	1,600	1,600		
TN 67 F 4599	Scorpio	2/2011	1600			1	1,600	1,600		
TN 66 C 7977	Bolero	16/2011	1600			1	1,600	1,600		
TN 36 C 5508	Minidoor	Without Permission	900			I	900	900		
TN 39 AV 7970	Minidoor	Without Permission	900			1	900	900		
TN 36 X 9962	Minidoor	Wetheret Pertons som	900			I	900	900		

			Ra	te for hirir	ng	No.		Break-up of total expenditure of Column 6			
Regn. No. of Vehicle	Type of Vehicle	Vehicle Permit No. issued by RO	Rate for hiring of vehicle / mainte- nance	Fuel charges (if not covered under hiring)	Driver's charges/ (if not covered under hiring)	of days for which used	Total Amount incurred	Amount spent by the candida te/ Election Agent	Amou nt spent by the Politic al Party	Amount spent by any other association / body of persons/ individual	
1	2	3	4a	4b	4c	5	6	7	8	9	
	Mini Door	Without Permission	900			1	900	900			
29.03.2011	Pajero	Without Permission	1600			1	1,600	1,600			
09.04.2011	3 Vehicles	Without Permission	4800			1	4,800	4,800			
TN 02 AP 1042 05.04.2011	Car	Without Permission	1600			1	1,600	1,600			
TN 30 S 9158	Omni	Without Permission	1300			1	1,300	1,300			
TN 33 AR 5974	Car	Without Permission	1600			1	1,600	1,600			
TN 47 R 9191	Car	Without Permission	1600			1	1,600	1,600			
Minidoor	TataACE	Without Permission	1050			1	1,050	1,050			
TN 49 M 0871	TataACE	Without Permission	1050			1	1,050	1,050			
Omni	2 Vehicles	Without Permission	2600			1	2,600	2,600			
TN 07 AD 5458	Car	Without Permission	1400			1	1,400	1,400			
11.04.2011	Car	Without Permission	4050			1	4,050	4,050			
08.04.2011	Car	Without Permission	1600			1	1,600	1,600			
11.04.2011	Car	Without Permission	4250			1	4,250	4,250			
07.04.2011	Car & Auto	Without Permission	83280			1	83,280	83,280			

Grand total of Column 6: Rs. 3,38,130/-



PART-V

DETAILS OF EXPENDITURE ON PUBLIC MEETINGS/RALLIES

(Each Public meeting/Rally/Procession held by the candidate/his election agent/his political party/any other association/organization/ body/any other individual on behalf of the candidate should be mentioned in this format)

Total Number of public meetings/rallies/processions 1

Total expenditure: Rs.49,170/-

1.	2.	3.		4.		5.	6.	7.	
Date of Public meeting/ Rally	Address of Venue	Name of Authority from whom permission obtained	Expenditure on Rallies/P		Amount incurred by candidate / Election Agent	Amount Incurred by Political Party and name of	Amount incurred by any other Association / body		
	Name of the Star Campaigner / Outside Dignitary (If Any)	Reference No. and Date of permission	Description	Qty	Rate per unit	Total Amount		the Party	/ Individual and names of such persons
07.04. 11	Cutchery	R.O.	Erecting Pandal & Fixtures			9220	9220		
	Medu, Gobi	ROC 2023 /	Arches & Barricading						
		2011 / A1	Hiring furniture						
	Selvi. Dated.: 01.04.11		Hiring Loudspeakers & Microphones			30800	30800		
			Posters						
			Banners						
			Cut-outs						
			Digital Board						
			Illumination items like Serial Lights, etc.						
			Power connection charges paid/ payable to EB etc.						
			Rent for venue						
			Other Miscellaneous Expenses			9150	9150		
			Tiotal			49,170	49,170		

Dated:

.06.2011

Part-VI DETAILS OF EXPENDITURE ON TRAVEL OF LEADER(S) OF THE PARTY NOMINATED IN TERMS OF 'EXPLANATION (2)' UNDER SECTION 77(1) OF THE REPRESENTATION OF THE PEOPLE ACT, 1951

		ıcy	Arrival Details		Details of Stay		Departure Details			n (5) by or	1 (5)
SI.No.	Name of the Leader	Date of Arrival in Constituency	Mode of Travel	Expenditure of Fare paid (If known)	Duration of Halt in Constituency	Expenditure on Local	-	Mode of Travel	Expenditure of Fare paid (if known)	Whether Expenditure on item (7) and (10) incurred Candidate, Political Party others specify	Expenditure if any on Item (7) and (10) by candidate
1	2	3	4	5	6	7	8	9	10	11	12
1.	Selvi.J.JAYA -LALITHA	07.04.11	Heli- copter		2		08.04.11	Heli- copter		~-	

Total Expenditure: NIL

Place: Gobichettipalayam

Candidate:

Date: 10..06.2011

Candidate:

Signature of Contesting Candidate (K.A.SENGOTTAIYAN)

Name of Contesting Candidate